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2N SR
B Wy Hos 2o
S ™ A3 olEe) 2= (SH &)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
o HMNMSGIAIAE! D|D|CIS A HAl
2,815,000 2,815
02 S324| 429,988 226,965 203,023
oHAMSHAIAE SXE4
78,159, 160 *10% 7,816
o HAIS|OJA|AE SAE4
20,000,000& 20,000
oNMSHAELEE S&Z2 )01 A|AE X2
38,200,000 *x15% 5,730
o A2ZHSIISAIAE SAES
18,200,000 *10% 1,820
O ATE N AHAM2ALIANAE RXES
32,038,000 *12% 3,845
oM AIEHAAAE ST 4
51,870,000 *12% 6,225
oADIE ¢ RKANES 780,000& x12& 9,360
o XNt EMFSAIAE KX
17,820, 000& *&% 1,426
oTAL DHATARE KL
54,150,000 *&% 4,332
OoAMBENIU QAELS(AVA U SH)
33, 380& *2003| &M * 122 *25% 20,028
oMMl WED| RAIEL
250,000, 000& *&% 20,000
oQIE Yl AISE 2e|AAE SAIE4
71,389,900& *8% 5,712
o{IE®a &EHl RAEX
257,276,600 *8% 20,583
odot= [4AQX| HH| KRAESE
95,200,000& *&% 7,616
odat= | 2ARX| &H| KAES%
35,200,000 *8% 2,816
o o2t HAQIHY HAAXH|(L3) SAL
= 180, 150, 000& *8% 14,412
oSEAYIE AXK P
50,0002 *x208F A 1,000
oMAZH|(PC,2LIE , Z2IH) SN2
1,200, 000 & *300CH *6% 21,600
oty ATEN &AXl NE S FA2el
12,500 x2003] *4=2 D | 10,000
oMBEAAE ZeRE 0l22
245,667 ,000& 245,667
207 AR 18,000 18,000
02 MARNE| 18,000 18,000
oSMEF FXINEL]
150,000,000 *12% 18,000
308 AXIHHSOIA 105,661 114,970 A9,309
13 SI|2SHUSE A NS AL HI 105,661 114,970 A9,309
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2N SR
B Wy Hos 2o
el A HEF elmet 2= (EEEE))
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
o2l 2EAAIAE X2t
12,300,000 12,300
oTT)|IE22CIAAE S 2
34,511,000& 34,511
oERIIEZ BRASAMY 50,000,000 50,000
o LEDOIAIAE! SR 2t
5,600,000& 5,600
o) |ISE2EF28(BRM) AIAE! DES)
3,250,000& 3,250
SHEAEB S 3N 89 648,964 588,080 60,884
< 27,126
= 621,838
201 LE2AH| 638,964 568,080 70,884
= 27,126
= 611,838
02 B32ZH| 638,964 568,080 70,884
oHB0IERZ(BAES0E23)
40,0002 *x23| &+ 122 960
oHMF AR 2R (DRSS, AIY
A, 89) 420,000 403 &= 12& 201,600
ST 0|2RB(To2)
1,530,000 *13| & x12& 18,360
ocYANHIAY 0I1222(TeR)
1,000,000& *13| &x12& 12,000
oINS 0|22
36,000& x863| &1+ 12& 37,152
oHMBFESIZ NS (ZREI |2, AIEA, S
o) 21,000& #4235 <1+ 12 10,584
oA NSHLANE) 0|22
13,0002 *1,100&| &= 12& 171,600
oURE FSUHENG AIS22
80,000& *x33| &+ 12& 2,880
o ANIESISIE EESSIPC S| AIER2
61,0003 *673| &+ 128 49,044
oRAEE FSUE Z2HY 322
2,800&+5503| &1+ 12& 18,480
oM 2AQT(2H, AIYA, S)
13,000 508 &= 12& 7,800
oBEHA RHOHY FHZ
33,000 *x2743| & 12& 108,504
= 27,126
= 81,378
401 AIEHILE0HY] 10,000 20,000 10,000
01 Al&H| 10,000 20,000 A 10,000
o AIRA MBEANSIH HH|
10,000,000& 10,000
NEHHSSHIEAAE 102,608 100,888 1,720
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SN B2
B Wy Hos 2o
el A HEF elmet 2= (EEEE))
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
CcHHDE DelE g
500, 0002 *10CH 5,000
HoIEE B35 Y HEEQH AAH 29 131,969 206,416 NT4,447
201 Ler2 | 130,769 134,736 A3,967
01 At 22|l 30,000 30,000 0
o0l A HAAAE |
30,000 *1,00004 30,000
02 2324l 100,769 104,736 A3,967
o ASHAH FAES
151,064, 0002 *8% 12,086
CEYREH (L) ALY R4
111,720,000 *10% 11,172
SHYUYN ALY SXEx
148,615,000 *10% 14,862
oUSBEOH AIAE RXE
29,385,000& *10% 2,939
cHERHA H2ZHOU AAE SN2
77,105,000 *10% 7,711
SPCICIZEBEES AAE SAE2
56,430,000 *x12% 6,772
o8lHI0IE St 2elAAE RS
150, 260,000 *12% 18,032
RIS HEDIE2e| AAE RXEs
48,246, 2403 x12% 5,790
oHEAIAH HIZMAH AAE SXE
66,440,000 *11% 7,309
oFHBAAE HIUHSAHLAIAE SN2
60,670,0002 *11% 6,674
o2t NS AHAAHAAE SXE
49,500,000 *10% 4,950
CBUSSAAE RIS
20,600,000 *x12% 2,472
202 Odt| 1,200 1,680 2480
01 =WHOdbI 1,200 1,680 A480
oHPHO Y JOIHTES 9
20,000 =230 1,200
SlHOIH=ZA 24 Y 28 1,200 1,200
201 L2 | 1,200 1,200
01 At 2telt] 1,200 1,200
cHH0IE =4 AlZs Z2 08 H2HALE
= 1,200,000&*18 1,200
NS H23 018t &4 6,900 19,586 A 12,686
F0FES W= 6,900 7,500 AB00
201 LBr23| 2,100 2,500 A400
01 AtR222ltl 2,100 2,500 A400
oFFLINERE WiHFL
10,0002 *210H 2,100
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A B2
B #y os 2o
=@ XY 235 I8t &4 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 4,800 5,000 A200
14 IIEt2 83 4,800 5,000 A200
oFDINPE DEUA 4
80,0003 *60AI 2+ 4,800
QIEYl 22| 31,160 42,443 A11,283
el sl 2ke| 31,160 42,443 A11,283
= SHOIXl 22| € 88 31,160 42,443 A11,283
201 el 6,160 17,443 A11,283
01 At2t2ltl 4,160 4,368 A208
oZHIOIXl SSL 2teISAl 4l
800,000& 12 800
SEHOIX BHIL SIS A +42
2,000,000& %12 2,000
oQIH2e|ER =& SEH|
8,000 »2& »85& 1,360
02 S5=2g4l 2,000 13,075 A11,075
oZHOIX Sole A=
200,0002 %13 200
oSHOIX 28l 2=
150,000 «12& 1,800
207 AR 25,000 25,000
02 MAHHZHI 25,000 25,000
odAOIE &Hl & FADHZH]
6,250,000 *42] 25,000
HH2AZH(Z2M) 60,855,891 59,211,915 1,643,976
= 52,430
o 60,803,461
el 23 60,280,806 58,631,210 1,649,5%
= 52,430
T 60,228,376
ol 2HH|(ZZ) 60,163,670 58,572,310 1,581,360
101 @124H| 47,588,504 46,636,838 951,666
01 &= 40,063,837 39,408,544 655,293
=JllEa 28,874,757
-32 26,986,321
Z(HS) 8,649,380 x1H 122 103,793
CRE(AS) 8,839,600 x1H 122 106,076
= 8,379,800 x4&E 12 402,231
o= 7,103, 160& x34H 123 2,898,090
SPNE=ITs 7,342, 1502 «4H 123 362,424
o= 4,341,600 «202& * 122 10,524,257
KIS A 3,163, 7603 x26E « 12 987,094
AL A 3,674,720 x18~12E 44,097
72 3,125,430 «150H 123 5,625,774
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SN 2D
B #ESAA (SR
el i Eg| (Ete &
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
= 2,163,57021 100« 128 2,5%,284
= 1,834,540« 152« 123 3,346,201
-H2+E 1,888,435, 9303 22/ +50% 1,888,436
SEELES] 1,506, 180
-2 500,000 15 * 128 6,000
2324 450,002 ¥ 124+ 128 5,400
43 400,000 x4 * 128 19,200
SS(RNE2 Z3) 250,0002 33 * 128 114,000
2L T)
185,000& 202« 128 448,440
-XISZAHSTAL) 185,000& x27H + 122 59,940
-2 180,000& *150H * 122 324,000
-8,92 175,0002 252« 12& 529,200
o HMZ A 1,130,640
-2 Bt 140,000 +673H * 123 1,130,640
og 3,483,476
-AIZ2ERI 2RSS (FHH) 848,318
55 14,62 *4H*10A1 2+ 128 7,053
6= 12,5313 #2028 x10A| 2t 128 308,752
- NEAHASE 0l4)
11,8162 +4Z*10A1 2+ 128 5,672
- NS AH21ZE 0I5t)
11,0743 +22Z+10A12H+ 123 29,236
H A 12,0782 12 *10A12H+ 123 1,450
= 11,3192 % 150F *10AI 2H+ 128 203,742
= 10,1622 *100Z *10AI 2t 122 121,944
= 9,620 152« 10AI 2+ 123 175,469
-AIEI2R (S E) 30,000,000 30,000
—2e| PR 7,103, 1603 x4« 123 P 30,686
2B 42
3,878, 1002 +210H 122 4. 1% 400,686
-HI2sE I3 465,000
204 014t 100,000& »240H » 122 288,000
514 04 ~ 20 Ol
80,000 »60H « 128 57,600
- 109 Ol& ~ 15& 018t
60,0003 *70H 122 50,400
-5 0lat ~ 104 018t
50,0003 *115F* 128 69,000
-E2=E FIt Otz 76,800
-209 Ol& ~ 25@ 018t
10,0003 x40« 123 4,800
- 269 Ol&t 30,0002 *200H * 122 72,000
OELy 424,800
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2N E2D
HH: HYSARH (SR
el ol (el &
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
CHHRX 40,0002 x400% » 122 192,000
= (PNE 20, 0008 <260 128 62,400
- MR 60,0002 70 128 50,400
- AR RHA Ol & 100,00024 5024 » 122 60,000
L JIEDHS 20, 0008 <2502 128 60,000
-R0IER Y
1,770, 8002 #2224 x50+ 1224 233,746
-DHDOA g 50,0002 152+ 128 9,000
lsdEsE 165,480
JIEEZ 53 50,0004 122 128 7,200
JIEHT 63 ~ 73
30,0008 130 128 46,800
JIE=Z 83015t
20,0003 *130E ~ 122 31,200
IEHB(NTH)
60,0008 x4 * 122 2,880
INIEHZ (XA
50,0002 526 * 128 15,600
JIEHESY IHBOIEA)
50,0002 *424 %122 2,400
JIEHESY HNBOIAL13)
30,0008 1238+ 128 44,280
JIEEESY JHBIA 23)
20,0002 %32 * 128 7,680
- 2ESY INR(7-622EE)
10,0002 «6E «12& 720
2L IAS(8Z2TE)
20,0002 6~ 122 1,440
A 2LEH(3H0[4)
50,0008 <72 * 122 4,200
- WA DAL (1H0/ A3 0| 2F)
30,000 x3& * 122 1,080
-Heig 36,000
H4, 2=, b4, M2, €2
100,0002+30F <122 36,000
“Eag JHa3 50,0008 1% 122 600
IS g 80,0002 +3 128 2,880
QINDEX DEAY
550, 00024 » 124 128 6,600
-2/8 224 60.000
-8 50,0002 +602% 122 36,000
YE 40,0002 %50 128 24,000
LR 200, 00024 532 128 7,200
S8 70,0002 +*207E 122 173,880
QAR 50,0002 502 * 128 30,000
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SN B2
. #RSHAH|(E2W)
SERRIEESS(T L)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
EENEEEE:
70,0002 76+ 122 63,840
-AtSISXIAL HHES AXIXHOHZ)
30,0002 +60H * 123 21,600
2R g 83,640
R y=ESE= 50,0003 *15E*12& 9,000
- 4L 70,0003 <1+ 12& 840
B2 250,000& x 12 =123 36,000
OlZ I At 50,0002 *13H x 123 7,800
=2 Al 250,000 x2F 123 6,000
Zgd U2 100,0002 x20H 123 24,000
NS =y 11,520
= 80,0003+ 12& 2,880
6= 60,0003 x2F 123 1,440
- 73 0I5t 50,0003 128+ 12& 7,200
“MAYSRSE 20,0003 x5 122 1,200
—El&(Yol - =0 =+¢ 300,000,000 300,000
oHEFIHI 2,312,371
-2 BHE 1,926,975, 4402 23| x60% 2,312,371
oIS A
2,240,210,2802 1120 86%+1/30 706,413
odtAN= 2,050,000,000& 2,050,000
02 JIEt& &2 1,546,5%6 1,613,947 A67,351
oXHIAGE(19Y) 805,375
== 2,293,100& 198+ 12& 522,827
-SHHZ A 140,0002 x 19« 123 31,920
-z 22X 175,000 x 19« 122 39,900
-“HESOHI 52,837, 1002 x60%+23| 63,405
—CI D2 A 52,837, 1002 *86%+*1/30+ 133 19,691
-2 2,780,900& * 19K «50%+*23 52,838
-E25g IRta 11,880
- 204 0l&t 100,000 3% * 123 3,600
- 1548 ~ 204 O|Gt 80,000 *3H * 123 2,880
- 104 ~ 154 0jet 60,000 x5 123 3,600
- 54 ~ 104 02t 50,0002 *3Y*123] 1,800
S22 FI ORt= 480
- 254 0f&t 30,000 *1H*123] 360
204 0l& ~ 254 02t
10,0002 x 14 %123 120
-IESY 30,000
HH < Kt 40,0002 19+ 122 9,120
- XATHAHA 20,0008+ 12& 1,920
- SMAHH 60,0003 «8H+12& 5,760
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SN B2
M HZYRAZHI(ZRM)
SERRIEESS(T (Shol: &2)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
- AITHRHA Ol 4 100,000 52 * 122 6,000
IEDHS 20,00021x30% 122 7,200
AR R Ay
9,680 x 19 *10A| 2+ 123] 22,071
-HAPE TI=Y| 350, 00021 %19% 6.650
~BEYALN AlRSI224Y
9,902 x2ZH*10AI12H+ 123 2,317
SEEEAY AlRYDS4L
11,1302+ #2A1 2+ 123 1,336
SAAUE+EE(5E) 50,175
-=22(92) 1,770,800& x5 & +53] 44,270
-y al| 140,000/ %5 24453 3,500
-Atel2Ray
9,620 x5 *10A| 2H+53] 2,405
cAIHSSE (129) 691,046
k== 610,008
=== 60,081,000& +3¥ 180,243
rede 51,865,000& +5& 259,325
== 44,293,5003 32 132,881
=T 37,558,500 1 37,559
-JtEsg 16,080
B <= Xt 40,0002« 12H* 122 5,760
L PE 20,0008 x4« 122 960
- A 60,0002 38 * 122 2,160
- AUHAHS Ol&h Dpat
100,000 x3&* 122 3,600
JIERHE 20,0002« 15123 3,600
~F o aly| 140,000 %12 * 122 20, 160
A T=LaEN 28,680
M 6saE 250,000& x3E «12& 9,000
2N 724 E 185,000 x5 * 12 11,100
2N 824 180,000 x3&* 122 6,480
- SIIM 938 dE 175,000 x1&* 122 2,100
-AI2RI 225 16,118
624 (HH)
12,5312+32*10A1 2+ 128] 4,512
r2ag(Ed)
11,3192 x5 *10A| 2+ 123] 6,792
s ()
10, 1623 x3Z *10AI 2% 123] 3,659
B (HN)
9,620 x1Z*10AI 2t 128] 1,155
03 BRA(RIAH) 222 5,978,071 5,614,347 363,724
cHTINPRAS(143H) 5,978,071
35 3,263,529
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A B2
M HZYRAZHI(ZRM)
chol: ol (19 @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
IR (BHNSE Har S 5)
1,897,310 x 128« 122 2,914,269
LHEAZ (R 28, s01H S)
1,912,850« 12H 122 275,451
CHEZ (=AY
2,050,240 38«12 73,809
A E= 271,960,600 *43] 1,087,843
-HAx==E 72,6303 x 143« 123 124,634
- NS A 100,000& 143« 122 171,600
- SL2 x| 60,0003 *x143F «12& 102,960
-SHYRLg 60,0002+ 102+ 122 7,200
918 % oAy 40,0002 1124 122 5,280
~ORI224ZH(2UIERY)
204,060 x16H 122 39,180
-FE2f=4 106,730& x16E 15 25,616
-g§2=g 506,200 x 1438 »23] 170,514
-JtEag 115,200
i< Kt 40,0002 «130E 122 62,400
JIEHRA S) 20,0002 x220H 122 52,800
-EEF0HI 408,566,920 *0.6E 23] 490,281
-AlRteIRRAY
14,5302 x1432 152 x 12 374,234
4 HSFEESS 12,565, 166 11,935,472 629,694
01 gsf8= 9,616,222 9,060,560 565,662
oi=Rgs 43,081,490, 0002 *9% 3,877,335
o2N= 43,081,490,0002 %9. 9% 4,265,068
cERAgReD
43,081,490,0002 *3. 244% 1,397,564
oMoiFE= 43,081,490,0002+0. 177% 76,255
2 =uAHdEE= 1,719,985 1,760,551 A40,566
oxilIAAEHE= 41,950,850,0002 #4. 1% 1,719,985
M BRA(RIHS) 22N BEE2RE=s S 1,228,959 1,114,361 114,598
oRUALLHS(SRA)
6.,850,887,080& *4. 2% 287,738
oZRAZEEHB(SRA)
6.,850,887,080& *4.5% 308,290
cNELEHFHS(SRA)
6.,850,887,080& x2. 0% 137,018
cAHATHH EE 2 (S RA)
6,850,887,080& *1.4% 95,913
CTRI(LI|HY)22X £
400,000,000 400,000
el 2d| 74,706 58,900 15,806
101 212A4H| 74,706 58,900 15,806
01 2= 74,706 58,900 15,806
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A B2
. #RSHAH|(E2W)
el i Eg| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
NHEEEES,
11,3192 x2Z+25A| 24+ 123 74,706
cASLo 24YS o2l X2 52,430 0 52,430
= 52,430
101 @124H| 52,430 0 52,430
= 52,430
01 2= 52,430 0 52,430
o9z (ZASHo B4R X ZHIEX)
52,430,000 52,430
= 52,430
=3l 575,085 580,705 Ab,620
JI23Hl 575,085 580,705 Ab,620
201 et 3| 33,760 43,760 10,000
01 At22t2l] 33,760 43,760 10,000
oS ALEX 25,0003 128t A% 123 3,600
oI2lH &l 220,000& x50 12& 13,200
oZ2H A= 6,000
=2l 20,0002 x62x 122 1,200
NIEON 16,0002 x255 * 122 4,800
oJIE AIRES 7
20,0003 x5 122 1,200
oMA=EAD A2F 78 & &2l
1,200,000 *4CH 4,800
oZJIEEI| SRz
30,0003 *2CH* 122 720
odeJ| PRz 50,000 =20 * 122 1,200
ol SSYF FA S
8,000 102 »30! 2,400
oXADAM HF =N I
8,000 x2& 40! 640
203 =] 99,365 99,185 180
01 D22 HARFA| 63,000 63,000 0
oM E 14,250,000 #4271 57,000
ol e =& 1,500,000 x4= 7| 6,000
02 3t RS &| 31,205 31,025 180
o=x
(80,0002 » 1002 )+(60,0002 *200& )+(45, 000 *
249%) 31,205
04 PAE2EERFAH 5,160 5,160 0
o302l =1t
(400,0002+(5,00024+6% ) )+ 122 5,160
204 2Rt AH 441,960 437,760 4,200
01 MG HI A HH] 85,800 84,600 1,200
o 650,000& «1H*12& 7,800
oRz 400,000 «1H*12& 4,800
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2A:

=0

[==2am

Hu: #
=

=

29 | (Erel: a2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o=d 350,000& «2H*12& 8,400
o HAY 400,0003x 1 +12& 4,800
osIsdHAY
400,000« 1H* 122 4,800
oAHAS 150,000 x3& * 122 5,400
U (M2 EE)
100,000 #23H <122 27,600
osd 350,000 «1H =122 4,200
oH& 150,000& x10& 128 18,000
2 SELR3H| 356,160 353,160 3,000
o= 228,960
-olarg e 150,000 x5 * 122 9,000
-SANEE 80,0002 x4 =122 3,840
-NFsg 100,000 x14& 128 16,800
-Segd 100,000& x2&* 123 2,400
-SREHMEE 80,0002 x2& * 122 1,920
N 50,00021%2% 122! 1,200
Y ESH(HRZE TE)
50,0002 *320H 122 192,000
-2BHAIIMI(62) CHEl &S
50,000 x3&* 122 1,800
oA 42,600
-Heressl 50,0002 x71H =122 42,600
osYI|sHH 19,800
-S| 50,0002 *x33E «12& 19,800
oHISAIE A 7,800
eS| 50,0002 x13H*12& 7,800
o2 Mg A 12,000
-S| 50,0003 x20& ~ 128 12,000
cEMNIFHEH 10,200
-tHel2sH| 50,0002 x17E*12& 10,200
o 2|3 AFR 1t 8,400
-tHelasy| 50,0002 x14H 122 8,400
osH 26,400
-NeEgd 100,000& x22E « 12 26,400
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